Linear Functions and their Graphs

1. A point where a graph intersects the z-axis is called a(n) X - (V]‘l@_t/ C&!}} .

2. If the x-intercept is x = —2, and the y-intercept is y = 3 for a particular line, write each intercept

as an ordered pair, plot each on a coordinate plane, and draw the line determined by these points.
Be sure to label your axis.
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3. Give the coordinates of the labeled points, and state the quadrant or axis where it is located.
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4. Determine of the ordered pair is a solution for the given equation.
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5. Complete the table, then graph the line defined by these points.
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7. A business owner buys several new computers for the office for $1500 each. The accounting office
depreciates each computer by $300 per year. The value y (in §) for each computer can be represented
by v = 1500 — 300z, where z is the number of ycars after the purchase.

a. How much will a computer worth 2 years after purchase?

1500~ 2-300 = 900

b. After how many years will the computer be worth only $3007

2,00 = 1500 - 300 X
300X = |200
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c. Determine the y-intercept, and interpret its meaning in the context of this pmblem
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d. Determine the z-intercept, and mtelpret 1ts meamng in the context of this problem.
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8. Identify each as either a vertical or horizontal line, then sketch their graph.
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Linear Functions and their Graphs, part 2

1. Find the pitch (slope) of the roof in the figure, and describe its meaning.
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2. Use the slope formula to determine the slope of the line containing the two points.
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3. Cau the slope of two perpendicular lines be positive? Why or why not?
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4. Suppose a line is defined by the equation x = 2. What is the slope of a line that is perpendicular to
this line? Hint: Sketch the lines.
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5. The U.S. population (in millions) has grown approximately linearly since the year 2000. See the
graph below. |

a. Find the slope of the line defined by the two given points.
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b. Interpret the meaning of the slope in the context of this problem.
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6. Determine the slope and y-intercept of the given equations below, and use these to sketch a graph
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7. Two lines L; and L, are defined below either by points or equations. Determine whether the two
lines arc parallel, perpendicular, or neither.

a. Lp:(-3,-5),(-1,2) Lo (0,4),(7,2)
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c. Ini—y=3x-2 Ly: —6x+2y=6
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8. Write the equation of the line satisfying the given conditions.

a. Line passes through the point (2,7) and has a slope of 2.

Y- F=2(x-2)

b. Line passes through the point (1,1) and (3, 7).
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c. Line passes through the point (4, —2) and is perpendicular to the line 4z + 3y = —6.
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Functions, chapter 3.1-3.3

1. Determine the domain and range of the following. Also, use the vertical line test to determine
whether the relation defines y as a function of «.
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3. Let g(z) = 2* — 4z + 1 amnd h(z) =

90 = O0-4-041 =1
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4. Find the domain of the following.
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5. Create a chart of points for the funcmon Jiip)e=

the chart to sketch the graph.
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6. Create a chart of points for the function g(z) =

the chart to sketch the graph.
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